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12 6 9 HE THE |ERET (I BRHEET7.10)|[REET(<6.40) [mEET
13 6 10 Bx —v=4/ |ERET |RH B 97(<8.00) | 9(<7.00) |t €T
14 6 10 HHE |FhE |[ERET |RHE R 97(<9.00) [#&R H £ 97(<8.50) |#RH T
15 6 13 B |(Ledlns|ERET [T BRHEE9(<9.30) [IRHE 9 (<8.80) |[#BHET
16 6 13 HE NS ERET T BT (.30) | REET(K1.70) |t
17 6 13 Hx |—o=/y |ERET |fEI BT (9.70)|[BREE9(<9.20) |t €9
18 6 15 BE |6 ERET |AKXF |BHEEI510)|BREET 460 |BHEET
19 6 16 HE EhE¥ |ERE |HW BT (<8.40)|REET(K1.70) |t €T
20 6 16 BHE (LesAVE|ERET  |#HWL BREET(<8.40) [REET(7.90)|BHET
21 6 16 BE |8 ERE T BRHET(<5.90) |[REE9(<5.20) |9
22 6 16 HFE |LedA0s|ERET  |FHFWL BRHEET7.90) |[HRHET(7.20) | HEET
23 6 16 HHE |Eo5Y |ERET |fEI BRHET(<6.50) |[REET(K5.70) [t
24 6 20 Hx |(Zo3Y |ERET |FEHE B T(<5.90) |[REE9(<5.30) |9
25 6 20 Hx AT ERET |#HE BHEET1.90) [T (<9.30) |[#BHET
26 6 20 BxE —o=/ |ERET |#EI BRHET 1230 |[RHEET(13.80) | HEET
27 6 20 FHE (CenVE|RITET  |[FEE |[REET240)|[BREETH20|BEET
28 6 21 HE YoFa |[ERET |FHWL BRHET 1040 |[FRHE T (8.70) | HEET
29 6 21 FE PV ERET  |FWL BRHET 440 | REEFT 110 |[EEET
30 6 22 HxE | MFbe |[ERET |[EI R 97(<7.80) [ 9 (<7.50) |#RHEET
31 6 22 Hx BT ERET T B T(<9.50) | 9(<7.60) [t
32 6 22 BR=E |1 ERE |KAF |[BHEETI050)|#EEET(<9.90)|BEET
33 6 24 BHE (CedOL|ERET  WREFE |BREE9(<8.40)|[HE T (<7.80) |#REET
34 6 24 B=x | ERE |RHA BRHET(1050) [ HEF(<9.90) | HET
35 6 24 Bx Rvx—=|ERET |FHWL B E97(<6.00) [IRHEET(5.70) |RHET
36 6 24 HE |—o=y |[ERET |[AAH |HEE9(<6.50)|#HE T (<5.60) | REET
37 6 27 Hx |Zp3Y |ERET |RHE BREET10)|[EEET6.10)|[RHET
38 6 27 Hx ¥ |ERET |RE R 9(<8.60) [T (<7.30) |IRHET
39 6 27 Bx (LerlWt|ERET |[RE BT (940) |BREE T .10) |[IREET
40 6 28 Bx (LerlWt|ERET |[RE B 9(<9.40) | £ 9(<8.80) [ £ T
41 6 28 Bx 4T ERET |REA B 97(<8.80) [ EF(<7.50) |[IRHETF
42 6 29 BE |8 ERET |l BRHEE9(<7,80) [ H £ 9°(<6.60) |IRHET
43 6 29 Bx |1 FEm  RIIET |[BREET.70)|[EmEET(8.80) |[BEET
44 6 30 B2 |54 |ERET |RH BT (K4.60)|[REET 410 |[EEET
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2| A | B T AT X F 15134 ) 1137 AOVIN-E
115 | 2 ITES L = ERE [P 53 BHE9(<8.80)] BHHET(7.70) BmHed
215 | 2 (ITES TSy o Tul o1y INFR BEETK7.10)] BREET(<6.40) BEEd
3] 5 | 6 ITE-SE &7 % ERE RHE BHE9(<10.40)| #HRHE97(<8.90) BmEed
41 5 | 6 B |/ = AT T BWHEE37(<10.90)| #HEEF(<8.70) BEEd
5] 5 | 6 HE AR = AT T BHE9(<10.30)| HHE9(<8.10) BmEed
6| 5 | 6 g |0l |ERE RE BEETK7.80) BREHETT.10) BEEd
715 | 6 ITE L = ERE L1 BHE7(<8.40)] BRHEHET(7.70) BmEed
8] 5 | 6 WE |0 |fhES 21|87 BEE9(<8.20) HHEHET(<7.80) BEEd
9] 5 | 6 lxE  |450%F  |/NEE /INEIET BHE9(10.70)| HHE9(<9.70) BmEed
w)] 5| s lWE  |ICH INEET UNE g BEHE9(<9.40)| #RHEE(<8.30) BEEd
1m) s | s WE  |CLdhpss  |/NEET /INEIET B 97(<8.50) 22.40 22.40
121 5| s lWE |0 |TH T B 9(<9.00)] #HE9(<8.00) BEEd
3] 5| 6 ITES L = AT L1 B 9(<9.70)] #BHHE9(<9.00) ke
14| 5 | 9 BHE |[S0IAES|ERET T BHE7(<9.70)] HRHEI(<8.30) BREET
5] 5| 9 WE  |Cldhss |Eeh =% 57.40 247.00 304.40
6] 5 | 9 BHE |[S0IAES|ERET T BHE7(<5.30)] BRHEI(<5.00) BREET
17 5 | 10 wWE |0l |ERE MR B 9(<9.70)] #BHHE9(<8.40) ke
18] 5 | 10 Hx |ZoFe |ERE #Ful BEHE9(<8.60) HRHEHET(<7.40) BmEEd
w)] s | 1 (ITESY o o Tl P i1y HLFRET B 9(<6.80) #HHE9(<5.90) ke
20 5 | 11 Hx |FUHVUE |ERE BT BEE9(9.70)] #RHEE97(<8.30) BmEEd
21| 5 | 11 ITESY ST = AT ={::| B H37(<10.20)] #H&HH37(<8.60) ke
22| 5 | 11 IWE | Hsu BEH BEH BEHE9(<8.60) HRHEHET(<8.10) BmEEd
23] 5 | 11 g |HF BAT BART B 9(<9.90) #HHE9(<8.80) ke
24| 5 | 12 wWE  |450% |B8FETh BRE 15.50 87.70 103.20
25| 5 | 12 WE | Hhou T TEA B 9(<9.90) #BHHE9(<8.40) ke
26| 5 | 12 1T oT>Y4N EHE =G 20.80 29.90 50.70
21| 5 | 16 B |I> = RET RKKRF B 9(<8.10)] #BHE9(<6.90) ke
28| 5 | 16 | ottt |HAIXH |RiFE FEE BEE9(7.20)] BREET(<6.70) BHEd
29 5 | 17 Hx |EhE = AT T B 9(<9.40) #BHEHET(<8.70) ke
0| 5 | 19| Foftt FEAKE |ERE RHE R 97(<13.20)] BHEE(<10.70) BHEd
31| 5 | 19 WE | Hhou = R Er MR ¥ 97(<6.50) 6.90 6.90
32| 5 | 19 ITE-SY T4 BEH 4 TEE BEET(5.90) BRHEHET(<5.20) BHEd
3] 5 | 19 E  |7% = AT IMR B 9(<8.00) #MHHET(<7.20) ke
41 5 | 19 wE 7% E REr MR BEE9(<8.20) HRHEHET(<7.50) BHEd
3B 5 | 23 ¥ |0 |ERE RE Bt 9(<8.00) #MHHE(<6.70) ke
36| 5 | 24 [ITESY TN ¢ i ET Bk e £ 97(<5.90) 18.20 18.20
37| 5 | 25 Hx |EhE = R Er tL1is B 9(<9.40) #HE9(<8.90) ke
38| 5 | 25 HE |ZoE E REr FATN] BEE9(6.20) BRHEET(<5.70) BmHed
39| 5 | 25 BE |y |ERE T BRHEE97(<10.00)| #RHEHEF(<9.90) ke
40| 5 | 25 HxE |FhE E REr T B9 (<11.40)| #REHF7(<11.50) BmHed
21| 5 | 25 [ITES ST 4N SEHTET $EW £ 97(<8.90) 14.40 14.40
42 5 | 25 T E EET EX=:IN BEE9(<8.80) HRHEHET(<7.80) BmHed
43| 5 | 25 [ITES ST 4N JINENET INEIET BHEE9(<10.20)| #HHEEF(<8.70) ke
41 5 | 27 BE | = AT T BHEE9(<10.10)| HHE97(<9.30) BmHed
45| 5 | 30 ¥ |0 |ERE T BEE9(7.90) BHEHET(<7.00) ke
46| 5 | 3t WWE |0 |ERE aAA i+ 9(<5.40) 14.70 14.70
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2|8 | B8 mER | K F ) 1134 +H 137 | wLEE
1145 B%F |h3EhhE ERE BH BEET(<6.60) BRHEET(<590)| HHEET
2|45 WE |ZZFDLS |ERMET MR R (<1030) | #BEET(<9.10)| BEET
3[4 11] WE IZH = RET HH B9 (<9.80) 29.10 29.10
4| 4 14| WE 7% = R ET (PN BHE9(<830) BHET(<750)| #HHET
11414 WWE |0l ERE AKRF BEET(<750) BRHEET(<720)| HHEET
2415 WE |ZZH S2rET Bay LRD| R (<9.70) 29.40 29.40
3| 418 WFE |IF = R ET LLI BREET(<820) BRHEET(<720)| HHEET
4| 418 WE |7% = R ET (Lo BHE9(<760) BRHEET(<6.70)| HHET
514 19| WE |0l |ERE R BEET(<9.30) BRHEET(<820)| HHET
6| 4|19 oM XK= = R ET RH BHE9(<850) BHET(<740)| HHET
71419 WE |ZZH = R ET RH R (<1350) | RHEET(<1070)| HREET
8|4 19| WE [4503F |ERE 58H B9 (<8.50) 11.50 11.50
94 2] BHE |FvY |[ERHE &I BRHEET(<760) BRHEET(<6.90)| HHET
101 4|20 WE |[zHOZ | ZARH 38.30 166.80 205.10
11| 4|20 WiE (4503%F [FEE FLERHET B9 (<9.40) 36.80 36.80
12| 4 20| WWE |[ZLHAS [FER HLFRET 78.50 348.10 426.60
131 4|21 WWE |f=HOZ  |{FEH RARK BRHEET(<780) BRHEET(<6.80)| HHET
4] 4 21| BE |I2b = RET RHE RHEET(<880)| HmHEET (<740)| RHEET
15| 4 |21 WE |450%F |BHEW BRHEET(<9.30) BRHEET(<860)| HHET
16| 4|22 WE |HoU ST FHBFED| HHEY (<8.60) 18.40 18.40
171 4|22 WLE |SLHESL |RIFTH FHARD 783.60 3537.60 | 4321.20
18] 4 22| WWE |zt ERHE Z%8 BEE9(<9.20) BRHEET(<830)| HWHET
19 4 | 22| WE |ZLHASs ERHE RHE 395.40 1871.30 | 2266.70
20| 4 | 25| WE |EBLE FEN 21187 B9 (<850) BRHEET(<8.10)| HHET
21 4 | 25| WWxE 9K = RET &I BRHEET(<860) BRHEET(<790)| HHET
22| 4 | 25| WE |=Hol  |ERHE AKF B9 (<7.50) 20.80 20.80
23| 4 | 25| WE |0 | FHA N BREET(<7.10)| BRHEET(<6.10)| HHET
241 4 | 25| WUE |CLHSL FER HLFRAET IR 62.40 279.40 341.80
25| 4 25| WE 2o50F |FER AFHETE | ®EE9(<9.70) 17.70 17.70
26| 4 | 25| WuxE |9k RER AFFATH | BREET(<880)| HMEET(L780) H®REET
27| 4| 26| WLE |0 |(FEH 2)1 87 BRHEET(<6.10)| BRHEET(<560)| HHET
28| 4| 26| WE |HhoUr = R ET SEN BEET(<8.70) BRHEET(<790)| HHET
29| 4 26| LWE |CLHAL |FEH 21| ] 207.20 967.80 | 1175.00
30( 4|26 WE |Hotr = R ET (Ll BEET(<9.70)| BRHEET(<890)| HHET
31 4|27 WE |CZH =g 19.30 66.90 86.20
32( 4|27 WE FoZ ERE AHEH 10.10 34.50 44.60
33| 4 27| WE |5350 ESNiing Loz BMEHET(<870)| BRHEET(L7.90)| HRHEET
34 4| 27| BxE |[7RASAR|\ERE LI BEET(<790) BRHEET(<640)| HHEET
35| 4 27| WE =zHol |ERE SEN 8.20 13.80 22.00
36| 4|28 WE |HoU FEN 21187 BEET(<7.70) | BRHEET(<700)| HEET
37 4| 28| WLE |3BLE SZirET Fa L BMEHET(<8.10)| BRHEET(L730)| BRHEET
38| 4|28 WLUE |[fFO |RivHT BEET(<820) BRHEET(<680)| HHET
39 4|28 WwxE 7% ESNiing RH BMEHE9(<9.00)| BRHEET(<8.10)| HRHEET
40 4| 28| WE |hHholr Li==nil BHEET(<830) BRHEET(<720)| HHET




